
SAP ABAP table EVHR {HR Order Confirmations (Times/Time Events)}

EVHR

MANDT [CLNT (3)]

PDSNR [NUMC (12)]

SRCSYS [CHAR (10)]

AUFNR [CHAR (12)]

WERKS [CHAR (4)]

BUKRS [CHAR (4)]

KOSTL [CHAR (10)]

MEINH [UNIT (3)]

VGE01 [UNIT (3)]

SOE01 [UNIT (3)]

RUE01 [UNIT (3)]

VGE02 [UNIT (3)]

SOE02 [UNIT (3)]

RUE02 [UNIT (3)]

VGE03 [UNIT (3)]

SOE03 [UNIT (3)]

RUE03 [UNIT (3)]

VGE04 [UNIT (3)]

SOE04 [UNIT (3)]

RUE04 [UNIT (3)]

VGE05 [UNIT (3)]

SOE05 [UNIT (3)]

RUE05 [UNIT (3)]

VGE06 [UNIT (3)]

SOE06 [UNIT (3)]

RUE06 [UNIT (3)]

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 EVHR-MEINH = T006-MSEHI 

0..N

0..N

 EVHR-RUE01 = T006-MSEHI 

0..N

0..N

 EVHR-RUE02 = T006-MSEHI 

0..N

0..N  EVHR-RUE03 = T006-MSEHI 

0..N

0..N  EVHR-RUE04 = T006-MSEHI 

0..N

0..N
 EVHR-RUE05 = T006-MSEHI 

0..N

0..N  EVHR-RUE06 = T006-MSEHI 

0..N

0..N  EVHR-SOE01 = T006-MSEHI 

0..N0..N
 EVHR-SOE02 = T006-MSEHI 

0..N0..N  EVHR-SOE03 = T006-MSEHI 
0..N

0..N  EVHR-SOE04 = T006-MSEHI 0..N
0..N

 EVHR-SOE05 = T006-MSEHI 
0..N

0..N

 EVHR-SOE06 = T006-MSEHI 

0..N

0..N

 EVHR-VGE01 = T006-MSEHI 

0..N

0..N

 EVHR-VGE02 = T006-MSEHI 

0..N

0..N

 EVHR-VGE03 = T006-MSEHI 

0..N

0..N

 EVHR-VGE04 = T006-MSEHI 

0..N

0..N

 EVHR-VGE05 = T006-MSEHI 

0..N

0..N

 EVHR-VGE06 = T006-MSEHI 

0..N

0..N

TBDLS

LOGSYS [CHAR (10)]

 EVHR-SRCSYS = TBDLS-LOGSYS 

0..N

0..N


